‘_';' I I T 11 | I I I I L | ]

Q10 = Splitting scale\/E (71<m <111 GeV) —=

O = 3 [ =

S = =

o — _

"HoollOz = —

b g — _]

O| = B 1

@ 10 e =

© = =

1 = —=

_l — -

10 = m ATLAS =

~ —A— Pythia 6.428 370 ~

102 &= ° Pythia 6.428 atlas-csc —

= -+ - Pythia 6.428 d6t =

B Pythia 6.428 default _

1073 &= -+ Pythia 6.428 dw N

= —o— Pythia 6.428 p0 3

107 - =

J:l | | | | I | | | | | L1 1 1 | —_]

I:| T T T T T T T T | T T T T T T T T | :

2 & =

- RN ]

- ' _

%) I ﬁ\@\ I/-)Ié —

|<_E B v- ¥ ®~\ *’l |
e 1 A

o n

E |

m pa—

0.5 _|

1 1 1 1 1 1 1 |

Z (Drell-Yan)

8000 GeV pp
J_| I I

10°
sgrt{d_3} [GeV]

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


